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二OO九年聊城市普通高中招生统一考试
化学试题
[image: image1.png]=& (16 97)

X R FRE . H—1 C—12 0—16 Na—23 Cl—35.5 Ca—40
—EEREB(FFEES /MR, SME2 75,£16 55, BMERE—NERFEER)
9. THAL)R T B AZ LY 2

A RBIRIE B. H M C. % B D. IR
10. FA LR AA LA E T, IEF R 2

A fAEBAA

11 FEIEE T RA TR

A FH PSR B4 77 0 DX SRR — AR A B

B. FAVLEE Bt 0 07 ik X )k A AN

C. FABK X HITE R Tk

D. R R IR X ] e PR B 1 TR 28 PR /K
12.2009 4F{HEFHER H 59 2B “ s al”, 185 ANRAE i) Al RpEe i A8, R IP 385

UM AT AR A% — 2 2

A. N 2009 4E 5 H 17 B, 3 EEE (A 7 R FHR e 0 S5 K AR5 S 4% SR

B. A 2008 46 A 1 B, T ESLHEFRMEA , Ird w54 T R 144 44

C. ] M A 98, BE T LA B BE IR IR, A ) T Il = 0,

D. TSR AL JRAD AV AT IRA A T BRI A AL , EABR RGed R 5 e R
13. A 09 EHFZLIE, 2FREZ E R K F A HINT Jifk, FERBRZE MR MR Wik IEn

Jokk, HoAk 2500k CoH 005, T KR B BRI UL V5 I 1 1) 2

A. FEHRRIAXS 01 B 134

B. — RIS T T RIS AN S 47K 5T AR

C. #FHMRPHOTR FULR AILRMEREIL AT : 10 2 5

D. — NIRRT 7 BRI T 10 DERET A S AR L

YrE fese AR (3t 12 T0) 353

C. g g D. SR KIRG T




[image: image2.png]14.

15

16.

X =R & m s s R ST S R AR« (1) O/ MR =Fh &8 R, 2390
AR W, — Bt Al G, B R A AP i, CEAERLR. (2) BOR/MESER
H I RIRR 8 F, 23 B B ] A R R v, Y L PR 3R TP 7 A A<, B 7 A AR R B 30
B LE PR, U 2 S = F R BT SR 2

AHSH>Z B.HA>Z>H

CH>Z>W D.A>H>&

AL ERAS PR B A B UM B O TR A T BRI RN B ROV B

HARFEMRAEARMIET . THIUEF, A IEFHR

"K) HEAL3H (D"KD

KR TP A A5 TR

A FAEE AL AT 4y

B. SN — REA LT A A

C. R AL P AN AT 41

D. S BE 4y B AR F AN AR S R B B R 2 TR REE RO T s 1

AU a.b e d PR RH TR A0 A EE M3 a -
T 30 ) 1 83 FE 0V R gg :
NaCl KCl | NH,Cl | KNO, % 1o y

120
10C | 35.8¢ | 31.0g | 33.3g | 20.9g 100 /a
60°C | 37.3g | 45.5¢ | 55.2g | 110.0g % / n -
AR 2 5 ST A T 92 RSP ZS=C R
A. b IHEAREEANT a (O L 10
B. o a i1 R R RRAF RO RLIE 2% TR e

C. ZM a5 d IREY IR a, 18 5 R FIZ AR (45 i i 7
D. AL AE RN R 60°C R 2 10°C i A2 B AR R

Y Ak AR (3L 12 ) 4T




[image: image3.png]=FEBs (24 57)

ZEEE(FEEE 4 ME, £ 10 &)
L2 50) EOAMAN, @R, Ok, QWEHR, OK, @A, OlKED .

HpETReYHZE  SETHEA®YE

2.(243) B, ik NUIRS D FEu SISO A Do A T AR RSk TR AR L LU A
SEG. EEegYhEA _ (CHWR) FARITERERR. NRAERT KA
BT ARV EETI M EYa (PS5 AR .

A. TR B. FiXg R C. KK D. FkE

3. (3 70) W B SRR 7 I A EE T L . ST RUT =M i

15 5 BR 5 R
Mg + 0, 2R om0 2, + 0,2591H,0 200 + 0, 22590,

(1) 85T b, BB EATA L ILN & HRE B
@ ;@ o
(2) b EAL2E BB A T2 AR Z AL ERE B HE A —A5 3 AN A — SRR Z Ak

o]

4.(341r) A ~H#EZ P AP R WP, ENZE R R ME TR, A KRR

B EZRSY, B R—Fh WA TR
T [

(1) G mbzh 5
(2) OB T 0 ;
(3) SN @HIFEA b 7Y 2 °
= REIREE (FFEEIE 2 3,48 47)
5.(2 1) ALTE M SE R AP SE 30 BRI A AT AR , 355 [ 2%
(1) B 8mL iR, N mL B
(2) BB E AT BB ZE, il EN—m_ IREMRA RS A
PrE fese AR (3t 12 T0) 259





[image: image4.png]6. (6 7)) IR (H,C,0,) MFREEIM il o A58/ N2 Y [R] 2 308 55 1R 52 30 ik 1) 7= A
TR
[ %8 5Ri& | FRRMEEIN ") A. L CO, B. 1A CO C.BEA CO,, A CO
[ Z 3 #H] CO BEIRABEHMRIA AN A A B (4R, 32 RV TE 1 CO, BiZIRgUAE
(&R ]ZGEB/ DA R A MK 18T T, st B PR L% Rl R ES
W), A T FIE LR IR, U

[ SEIEHR 3T 1 W Bl A 58 AR SE B 75 -

AT LRIE TR B2 TR
SRR AT A, 0
i B .| EEAMERYS T N CO, Al CO, B D
ST CEH D o
S D o o | R R R .
HoB%
(85 RE] (1) %5 B ok GRng TR, BT R SR Pk A c
(2) ARAESE RIS, R 2 1, 52 T T o 71 O J E B b
o .

MR ( AEERE 1 /N, 36 5)

7.(6 43) R HAES AR R G & S BiE s, B T —F AT i T5 KA BRSO o
AGE=2"ser-Lille VAN oo

(1) iz ) HER A T5 K EZRIEER R , R BUR 2 AL BRI 15 KK A 1000, INA T 4 ¢
NaOH HEE G U 58 2N OROK P E A 52 A8 SR SN IRk P Ee R
H B o 2O (ARZEEERHEWE] 0.001% ) .

(2) 1AL T 15K A B IR 2 — 2 ¥ 100t Y5 7K HEA AP At Fradh A7 s ANAR L, BiF i
B AV S EAES , HTHE AL B 100t XA 5K T B A A S R B 2 2D

Y Ak AR (3R 12 TT) #1050





[image: image5.png]ZOOELMEERTHEL —F A
AERE(A) SFERRET IR

B 1 HEHEE 16 a)

— (FEHME2 7,216 5, Bk FEIFET)

B 9 10 11 12 13

14

15

16

ER B C A C D

A

FIHEEEEESE 324 77)

—(FEE=E14,£105)
1. @0 O®
2. R EAEF A
3. (1) ORBLAGHESR OMBIAESRIIF

(2)Mg 5 0, R RBEEKSKIRR L, 555N RBSE S KR R AL; CO ZI6EY,

i Mg H, 2854 (HAl & HERRFFET)
R

4. (1)Na,CO, (2)CH, + 20, ==CO0, + 2H,0 (3)EAHRM

AFxBEET1 4,848 4)

5.(1)10  (2) FiKkiHEE

6. REAEE  BIEAKKEZEM
Ca(OH), + CO, ==CaCO, | +H,0
(1)

Q)P REAEEE  BRAKEISET (BHRIRR)

. (%64)

7. ﬁ:(l) 0. 3650 veveecereransnscassncnsctscssssenssstscsssssessntosssannonactosssssnssccsses

(2)RALHE 100 ¢ XFZEK, FE Ca(OH), HYFHEN

2HCl + Ca (OH), = CaCl, +2H,0 +eevveeeevmeenee Pereesenneeeeene (143)
73 74
100t x0.365% «
73 74

TR0 36 = T (2 4%)

ﬁ,f%:xz O. 37t ..................................................................... (1 ﬁ)

& (1) ZEKPRAERRE BN 0.365% ;

(2) b3 100t XFGKTEAAMBHEER 0.37t,
EFRBEER(IEL ) HIR




中考网 www.zhongkao.com

